
izkn'kZ iz'u i= 
lkekftd foKku 
Social Science 

d{kk X 
le; % 03%00 ?kaVs                                                   vad % 80 

funsZ'k %& 

(i) lHkh iz'u vfuok;Z gSaA 
(ii) iz'u Øekad 1 ls 5 rd oLrqfu"B iz'u gSa] ftlds dqy vad 32 gSaA 
(iii) iz'u Øekad 6 ls 23 rd izR;sd esa vkarfjd fodYi fn;s x;s gSaA 
(iv) iz'u Øekad 6 ls 15 rd vfry?kqmÙkjh; iz'u gSaA mÙkj dh 'kCnlhek 30 

'kCn gSA izR;sd iz'u ij 2 vad vkoafVr gSaA 
(v) iz'u Øekad 16 ls 19 rd izR;sd iz'u 3 vad dk gSA 'kCn lhek yxHkx 75 

'kCn gSA 
(vi) iz'u Øekad 20 ls 23 rd izR;sd iz'u 4 vad dk gSA 'kCn lhek yxHkx 

120 'kCn gSA 
(vii) iz'u Øekad 20 dk mÙkj fn;s x;s funsZ'kkuqlkj Hkkjr ds js[kk ekufp= ij 

n'kkZb,A 

Instructions :-  

(i) All questions are compulsory. 
(ii) Questions 01 to 05 are objective type questions carrying 32 marks. 
(iii) Internal options are given in Questions from 6 to 23 each. 
(iv) Questions No. 6 to 15 carry 2 marks each. Answer should be given in 

about 30 words. 
(v) Question No. 16 to 19 carry 3 marks each and answer should be given 

in about 75 words. 
(vi) Question No. 20 to 23 carry 4 marks each and answer should be given 

in about 120 words. 
(vii) Question No. 20 should be Indicated on the outline map of India as 

directed. 

¼1½- lgh fodYi pqudj fyf[k, A       (1X6) 

¼v½ ykSg v;Ld fdl izdkj dk lalk/ku gS \ 



(i) uohdj.k ;ksX;  (ii)   izokg 
(iii) tSo    (iv)   vuohdj.k ;ksX; 

 

¼c½ iatkc esa Hkwfe fuEuhdj.k dk fuEufyf[kr esa ls eq[; dkj.k D;k gS \ 

(i) xgu [ksrh   (ii)   vf/kd flapkbZ 
(iv) ouksUewyu   (iv)   vfr i'kqpkj.k 

 

¼l½ buesa ls dkSu lh jch Qly gS \ 

(i) pkoy   (ii)   eksVs vukt 
(v) puk   (iv)   dikl 

 

¼n½ fuEu esa ls dkSu lk m|ksx pwuk iRFkj dks dPps eky ds :i esa iz;qDr djrk gS \ 

(i) ,Y;wehfu;e  (ii)   IykfLVd 
(vi) lhesUV   (iv)   eksVj xkM+h 

 

¼bZ½ gekjs ns'k esa fuEu esa ls dkSu lk egRoiw.kZ ifjogu dk lk/ku gS \ 

(i) ikbiykbu   (ii)   jsy ifjogu 
(vii) lM+d ifjogu  (iv)   ok;q ifjogu 

¼Q½ ykSg v;Ld dk mRiknu fdl jkT; esa lcls vf/kd gksrk gS \ 

(i) mM+hlk   (ii)   dukZVd 
(viii) NÙkhlx<+   (iv)   >kj[k.M 

 

Choose the correct option. 

(A) Which one of the following type of resource is Iron-ore, 
(i) Renewable   (ii) Flow 
(iii) Biotic    (iv) Non renewable 

 



(B) Which one of the following is the main cause of land degradation in 
Punjab 

(i) Intensive Cultivation  (ii) Over Irrigation 
(iii) Deforestation   (iv) Overgrazing 

 
(C) Which of the following is a Rabi Crop 
(i) Rice    (ii) Millets 
(iv) Gram    (iv) Cotton 

 
(D) Which one of the following Industries uses Limestone as a raw 

material 
(i) Aluminium   (ii) Plastic 
(iii) Cement    (iv) Automobile 

 
(E) Which one of the following is the most Important mode of 

transportation in our country. 
(i) Pipeline    (ii) Railways 
(iii) Roadways    (iv) Airways 

 
(F) Which State is the largest producer of iron-ore, 
(i) Odisha    (ii) Karnataka 
(iii) Chattisgarh   (iv) Jharkhand 

¼2½- fjDr LFkkuksa dh iwfrZ dhft, A       (1X7) 

¼i½ Hkkjr esa flagksa dk izkdf̀rd vkokl LFky xqtjkr dk -------------------------- gSA 

¼ii½ usiksfy;u cksukikVZ lu~ ------------------------ ds ;q) esa ijkftr gqvkA 

¼iii½ ^djks ;k ejkŝ  dk ukjk ------------------------- us fn;k FkkA 

¼iv½ Hkkjr esa -------------------------------- 'kklu gSA 

¼v½ jax Hksn uhfr dk fojks/k djus okys nf{k.k vÝhdk ds usrk ------------------------- gSaA 

¼vi½ vk|kSfxd Øk¡fr loZizFke -------------------------------- esa izkjaHk gqbZA 

¼ vii½ usiky esa foy{k.k tu vkanksyu lu~ -------------------------------- esa gqvkA 

Fill in the blanks :    



(A)  ........................... is Gujrat's natural habitat for lions in India. 
(B) Napoleon Bonaparte was defeated in the battle in..................... . 
(C) "Do or Die" slogan was given by ........................... 
(D) ........................... rule in India. 
(E) Leader of South Africa who opposed apartheid policy ........................ 
(F) Industrial revolution was first started in ........................ 
(G) An extraordinary popular movement was started in Nepal in ................... 

¼3½- ,d 'kCn ;k ,d okD; esa mÙkj nhft,A     (1X7) 

¼i½ usiksfy;u cksukikVZ dk laca/k fdl ns'k ls Fkk \ 

¼ii) vkbZ- ,e- ,Q- dk iwjk uke fyf[k,A 

¼iii½ ekfVZu ywFkj dkSu Fkk \ 

¼iv½ fizafVax izsl loZizFke fdl lnh esa Hkkjr vk;k\ 

¼v½ ghjkdqaM ck¡/k fdl unh ij cuk;k x;k gS\ 

¼vi½ xqtjkr rV ij dkSu lk canjxkg fLFkr gS \ 

¼vii½ miHkksDrk laja{k.k vf/kfu;e dc ykxw gqvk \ 

Answer in one word or sentence : 

(A) Napoleon Bonaparte was related to which country? 
(B) Write the full name of IMF ? 
(C) Who was Martin Loother ? 
(D) In which Century did the printing press first come to India ? 
(E) On which river is the Hirakund Dam built ? 
(F) Which port is located on the Gujrat coast ? 
(G) When did the consumer protection Act come into force ? 

¼4½- lR;@vlR; fyf[k,A        (1X6) 

(A) tks ouLifr ewy :i ls Hkkjrh; ugha gS] mls ns'kt ouLifr dgrs gSaA (       ) 
(B) Jhyadk esa flagyh Hkk"kk dks jktHkk"kk ?kksf"kr fd;k x;k gSA (       ) 
(C) Hkkjr esa ,d nyh; iz.kkyh izpfyr gSA (       ) 
(D) 1990 esa Hkkjr esa xBca/ku ljdkj dh 'kq#vkr gqbZA (       ) 
(E) bZlkbZ /keZ dh 'kk[kk,sa dSFkksfyd vkSj izksVsLVsaV nks Hkkxksa esa caVh gSA (       ) 



(F) 'kgj ls xzke dh vksj iyk;u djuk 'kgjhdj.k dgykrk gSA (       ) 

Write True or False : 

(A) The vegetation which is not Indian in origin is called indigenous 
vegetation. (         ) 

(B) Sinhala language has been declared as the official language in Sri Lanka.    
(         ) 

(C) One party system is prevailing in India. (         ) 
(D) Coalition government started in India in 1990. (         ) 
(E) Branches of christianity is devided into catholic and protestant in two 

parts. (         ) 
(F) Migration from City to village leads to urbanization. (         ) 

¼5½- lgh tksM+h cukb;sA        (1X6) 

¼v½                       ¼c½ 

¼v½ yksdra=    &  dsjy 

¼c½ nf{k.k vÝhdk   &  rhu 

¼l½ iw.kZ lk{kj jkT;   &  cgqrksa dk 'kklu 

¼n½ vFkZ O;oLFkk ds {ks=  &  usYlu eaMsyk 

¼b½ eqnzk dk vk/kqfud :i  &  dEI;wVj 

¼Q½ lwpuk ,oa lapkj izks|ksfxdh &  djsalh 

Match the following : 

(A)                                               (B) 
(i) Democracy   -  Kerla 
(ii) South Africa   -  Three 
(iii) Fully literate state  -  Rule of many 
(iv) Sector of economy  -  Nelson Mondela 
(v) Modern form of money -  Computer 
(vi) Information and communication 

technology -  Currency 

 



6- lalk/ku fdls dgrs gSa \         (2) 

What do you mean by resource?  

vFkok@Or 

Hkkjr esa ikbZ tkus okyh dksbZ nks fefV~V;ksa ds uke fy[kksA 

Write any two soils found in India. 

7- vkjf{kr ou fdls dgrs gSa\        (2) 

What is a Reserved forest? 

vFkok@Or 

tSo fofo/krk D;k gS\ 

What is biodiversity? 

8- twV dks lqugjk js'kk D;ksa dgk tkrk gS \      (2) 

Why Jute is called Golden Fibre. 

vFkok@Or 

 [kjhQ dh Qlyksa ds uke fyf[k,A ¼dksbZ nks½ 

Write name of two Kharif crops. 

9- tkWcj dkSu Fks\          (2) 

Who were Jobbers? 

vFkok@Or 

vkS|ksfxd Øk¡fr ls D;k vk'k; gS\ 

What is meant by Industrial Revolution. 

10- xqVsUcxZ dkSu Fkk \         (2) 

Who was Gutenberg? 

vFkok@Or 



iapkax ls D;k vk'k; gS\ 

What is meant by Almanacs. 

11- v'osr 'kfDr vkanksyu D;k Fkk\       (2) 

What was the Black power movement. 

vFkok@Or 

,Ýks vejhdh ls D;k vk'k; gS\ 

What is meant by Afro-American. 

12- vkfFkZd fodkl ls D;k vk'k; gS\       (2) 

What is meant by economic developement. 

vFkok@Or 

vkfFkZd fodkl fdl ij fuHkZj djrk gS\ 

On what does economic development depend. 

13- oLrq fofue; iz.kkyh ls D;k vk'k; gS\      (2) 

What is meant by barter system. 

vFkok@Or 

Lolgk;rk lewg esa fu.kZ; dkSu djrk gS\ 

Who makes the decision in the self help group. 

14- oS'ohdj.k D;k gS\         (2) 

What is globalisation. 

vFkok@Or 

fons'kh O;kikj ls D;k vk'k; gS\ 

What is meant by foreign trade. 

15- miHkksDrk 'kks"k.k ls cpus ds nks mik; fyf[k,A     (2) 



Write two ways to avoid consumer exploition. 

vFkok@Or 

lwpuk ds vf/kdkj ls D;k vk'k; gS\ 

What is meant by Right To Information. 

16- ykSg ,oa vykSg /kkrqvksa esa D;k varj gS\ ¼dksbZ rhu½     (3) 

What is the difference between ferrous and non-ferrous metals. (any three) 

vFkok@Or 

/kkfRod ,oa v/kkfRod [kfut esa varj fyf[k,A ¼dksbZ rhu½ 

Write the different between metallic and non-metallic minerals. (any three) 

17- vks|kSfxd iznw"k.k fdls dgrs gSa\ le>kb,A      (3) 

What is Industrials pollution. 

vFkok@Or 

jk"Vªh; vFkZO;oLFkk esa m|ksxksa dk D;k ;ksxnku gS\ 

What is the contribution of the Industries in the National Economy? 

18- izFke fo'o;q) ds le; Hkkjr dk vks|kSfxd mRiknu D;ksa c<+k Fkk\  (3) 

Why did India's Industrial Production increase during the first World War? 

vFkok@Or 

bZLV bafM;k daiuh us Hkkjr esa cqudjksa ij fuxjkuh j[kus ds fy, xqek'rksa dks D;ksa 
fu;qDr fd;k\ 

Why were the Gumasta's appointed by East India Company to monitor Indian 
weavers? 

19- jk"Vªh; jktuSfrd ny fdls dgrs gSa\       (3) 

What is a National political party? 

vFkok@Or 



jktuSfrd nyksa ds le{k dkSu&dkSu lh pqukSfr;k¡ gSa\ 

What are the challenges faced by political parties.? 

20- fuEufyf[kr dks fn;s x;s Hkkjr ds ekufp= esa n'kkZbZ;sA    (4) 

Show the following on the Map of the India. 

¼i½ jkuhxat  ¼ii½ rkjkiqj ¼iii½ vadys'oj ¼iv½ jkorHkkVk 

(i) Raniganj  (ii) Tarapur (iii) Ankleshwar (iv) Rawatbhata. 

vFkok@Or 

fuEufyf[kr dks fn;s x;s Hkkjr ds ekufp= esa n'kkZbZ;sA 

Show the following on the Map of the India. 

¼i½ fot;iqj  ¼ii½ vejdaVd ¼iii½ eqEcbZ gkbZ ¼iv½ cksdkjks 

(i) Vijaypur (ii) Amarkantak (iii) Mumbai High (iv) Bokaro 

21- tfy;kokyk ckx gR;kdkaM dh ?kVuk dks foLrkj ls le>kbZ;sA   (4) 

Explain jaliyanwala bag massacre in detail. 

vFkok@Or 

lfou; voKk vkanksyu dk o.kZu foLrkj ls fyf[k, 

Describe the civil Disobedience Movement in detail? 

a22- yksdra= dks ifjHkkf"kr djrs gq, yksdra= dh vkfFkZd miyfC/k;ksa dk o.kZu dhft,A
            (4) 

Define democracy and describe the democratic economic achievments? 

vFkok@Or 

ukxfjdksa dh xfjek vkSj vktknh ls D;k vk'k; gS\ 

What is meant by dignity and freedom of citizens? 

23- oLrqvksa ds ekudhdj.k dk D;k vFkZ gS\ fofHkUu mRiknksa ds ekudhdj.k dks 
n'kkZb;sA           (4) 



What is meant by standardization of goods? Describe the standarization of 
various products. 

vFkok@Or 

miHkksDrk tkx#drk ls D;k vk'k; gS\ bldh vko';drk gesa D;ksa iM+rh gS\ 

What is the Consumer awareness? Why do we need it. 

 

 


